Emily Lettau and Hanna Schenkelberg
MATH 121 with Mrs. Browder
Writing Assignment

	According to the rule of thumb that “if a person’s arm span is one inch longer than another’s, we expect him to be about one inch taller than the other” makes height a function of arm span because the arm span in this case is what we find from a person’s height. X is a function of Y, just as height is a function of arm span. Also it is general knowledge that a person’s arm span is dependent on a person’s height, making height a function of arm span. In this model a = arm span while h = height. For our data, 40-75 inches is both a reasonable domain and a reasonable domain, which makes sense since arm span is typically similar to height.
	With our data (found on the second to last page) we found the regression line with the smallest sum of squares to be a = .9515h + 2.4611. The slope of our regression line is .9515, which means that for every inch increase in height, the expected arm span increases by .9515. It is comparable with the rule of thumb above, as .9515 is very close to 1. Our model’s vertical intercept is 2.4611. Which indicates that at 0 inches tall a person’s arm span is 2.4611 inches, which is not practically significant as no person is 0 inches tall and even if they were their expected arm span should not be that much larger. By looking at our graph (see the last page), we believe a linear model is what is the best model for our data. 
	In our study, subject 13 was 66 inches tall and had an arm span of 65 inches. If we plug his arm span into our equation, we get 65 = .9515h + 2.4611 which simplifies to 65.726 = h. In terms of our model, the subject would be expected to be 65.726 inches tall with their arm span of 65 inches. In reality, our subject is 66 inches tall, making them taller than their arm span expects them to be according to our model. 
[bookmark: _GoBack]	Most of our subjects were pretty typical of our model, with the most typical subjects being subjects 5, 6, 11, 13, and 14. Of these subject 5 had the smallest difference with the expected arm span being only .212 more than the actual arm span. The most atypical were subjects 15 and 18, whose expected arm spans were 3.503 inches longer than they actually were. 
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